BT =HILT—% / Technical Datall

{REEZ{R / Protection class : IP67
{FFH;EE S / Operating temperature : ASA -10°C ~ +60°C
ABS -10°C ~ +50°C

#E{thILY / Recommended torque

ERINZ / Components

No.

Z#1 / Part name

#ME / Pcs

#E / Material

- REUIE / Color-Finish

kv FHs8— / Top cover

1

ASAE UL94HB / UV-resistant ASA UL94HB
HIATEABSHEIRE (UL94V-0 E K 5) / Flame-resistant ABS UL94V-0

BRI AT L— / White gray
Fa—)LS L— / Charcoal gray

2 | 7/RF4— / Bottom base 1 ASA#EE UL94HB / UV-resistant ASA UL94HB RITA RS L— / White gray
HPREABSHIE (UL94V-0 E %) / Flame-resistant ABS UL94V-0 F3a—)L%5 L— / Charcoal gray
3 | FS5A2KAH/N— / Blind lids 2 ASAHHE UL94HB / UV-resistant ASA UL94HB RITA RS L— / White gray
HIRTEABSHIE (UL94V-0 E AL HY) / Flame-resistant ABS UL94V-0 F3—)L5 L— / Charcoal gray
4 | HRY Yk / Gasket 1 2 1)arI L / Silicone 7594 / Black
5 |BFER(/SAUK M3 x 8) 4 AFULR AL
Screw (Binding head M3 - 8) Stainless steel Unfinished

A /Title
71/\— / Top—cover fastening : 0.35N=m ~ 0.45N-m TAKACHI| %XEed4hFEHTE P67 KA w4 X @ G
gj:}i / PCB mounting : 02N*m ~ 0.3N*m TAKACHI ELECTRONICS ENCLOSURE CO., LTD. IP67 NETWORK PLASTIC BOX =
T/ Approved I5]/Croated | Z0E,/Prod b =/ Seale
/18 (BUFREDO) / Color Type (End of product number 1) B/ Approve FRE0/Checked B/ Create #/Product number 115
585 / Code £ / Color #E / Material } WP15-15-601
G RITA T L— / White gray ASA#AE UL94HB / UV-resistant ASA UL94HB iR B & H
A 2018/10/04 174
C F¥3—)LY L— / Charcoal gray EAMEABSHHE (UL94V-0 ERLS) / Flame-resistant ABS UL94V-0 fERLE/Date 018/10/0




150

55

102

17

38

150
102

l<— A

4-R24

4-R0.5

< A
B-B(1:2)
o
o = o

A-A(1:2)

86.5

/@ &

NV

)
N7

o @

3.5 48.5 3
0
No=
5 5
on D 7 R 1
A /Title
TAKACHI| #HXR#HFIHTFERIX IP67FAKNY IR @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. IP67 NETWORK PLASTIC BOX
7K F2/Approved 18X /Checked #1[X|/Created #F /Product number RFE&/Scale
1:2
WP15-15-6[1
iR ESZ S 1 H 2 ) 4
{ER{ B /Date 2018/10/04




My HhiN— / Top cover

150

102

17

150

102

lw)

D-D(1:2)

T

—

4-R24 C-C(1:2)
4-R05 !
Lo
B 8
E
]
5
15 N
N
35 13.5 l
12.3
77— / GATE
[e0]
(=)

118

112

"\
@&
7
& £N
A4 7
&N €N
W A4
@&
A4
@) @
138

112

HRELRMPIK * RFELTLFEEA
Recommended PCB dimension * NOT SUPPLIED

65

4-M3 1% —=byb
4-M3 Insert nut

6-M2.6 FAEREUTRR

6-M2.6 Boss

65
86

6-22.8

86

BRASUINTFERT S

TAKACHI ELECTRONICS ENCLOSURE CO,, LTD.

7R/ Approved

iR

18/ Checked

FH

4/ Title
IPE TR KA S R O]
IP67 NETWORK PLASTIC BOX —~
#1[X|/Created #F /Product number RE/Scale
WP15-15-61 1:2
EH
(ERA/Date  2020/12/8 3/ 4




"T4— / Bottom base

38

150 4-R24
- E
©@ o o ©
——— —

72

150
—

2-M4RR A% —=tyb (K =30+ WPMB-M4-2ER 4 F)
2-M4 Insert nut for Pole mounting bracket (WPMB-M4-2)

F-F(1:2) ®65

l J rﬂ
3 3

3.5

¢43

4-MAFR SV ERER A RO

105 _ oA
4-M4 Mounting hole 4-M2.6 FEARER 7R X
E-E(1:2) 86.5 4-M2.6 Boss
2
35
& 9 2
140
4-R4
68 36 4-22.8
[ !
S | |
S ~ __ /7 i
?_* 8 <
o R .
N i i
l |
HREERBEK * RFELTOLFEEA 105
Recommended PCB dimension * NOT SUPPLIED
fnda/Title A —1
TAKACHI| #ASHANFERIE P67 KR Y X O L]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. IP67 NETWORK PLASTIC BOX
7K F2/Approved 18X /Checked #1[X|/Created #F /Product number RFE&/Scale
WP15-15-6 ] 1:2
iR 4t 1 H 44
e A /Date 2018/10/04




	WP15-15-6
	WP15-15-6 Model (1)
	WP15-15-6 Model (2)
	WP15-15-6 Model (3)

